i
I §
P

AP Y
A Ay

o B
]

: D

o

N

3 D

O

oy

o

0,0
i

-

(o8]

Q

o
Description MA ltem Number | Qty
@38x2370 mm 61277151 1 _ o 1]

, m —_— ——
@32, 720x550 mm 61077020 ] ((Qi =
Screw, DING921-M8x25-8.8 8008461 1 ,@_ o
@60x30 mm 8005729 1 X >C20/25
505708 S1-S3
>EN 1176

£60x30 mm (260768) 1 Zorsc | [@> o1
Screw, ISO10642-M8x90-8.8-FT 8008519 ]
Cover 8, @18x10mm 8005958 2 II q G S 3;§§§B3§gEDEN
100x100 mm 712220 '| www.hags.com
Expansion anchor M8x71 HDG 8008557 2 Ball Post, OM, Wooden Post
Handrail- Wood post 8025898 2 622 771 52
26 16/7 x 3 mm 8035290 6 1(3)
Screw, wood, TKFT-6x40-8.8 8008651 6 MN [2>[ToB| 2017-06-01 |1




NR. |Description MA ltem Number | Qty

1 |Cover 8, @18x10mm 8005958 ]

2 |Screw, ISO10642-M8x90-8.8-FT 8008519 ]
8005729 II q ANEBY, SWEDEN

4 @60x30 mm 8005728 -l www.hags.com
(260768) Ball P OM, Wooden P

5 |@32, 720x550 mm 61077020 1 all Post, OM, Wooden Post

6 [@38x2370 mm 61277151 1 622 771 52

7 1100x100 mm 712220 1 2 ( 3)

8 |Screw, DIN6921-M8x25-8.8 8008461 1 MN [2>[ToB| 2017-06-01 |1




620 99

o

}\\

AP
e 7

>C20/25
/ I
JU Zn T
NR. |Description MA ltem Number | Qty
1 |@32, 720x550 mm 61077020 ] HAGS 334;5%33%5“”
2 |Screw, wood, TKFT-6x40-8.8 8008651 6 www-hogs.com
3 |@616/7 x 3 mm 8035290 6 Ball Post, OM, Wooden Post
4 |@38x2370 mm 61277151 1 622 771 52
5 |Expansion anchor M8x71 HDG 8008557 2 3(3)
6 |Handrail- Wood post 8025898 2 MN|[SQ&®>[ToB[ 2017-06-01 |1




	Sheet1
	Drawing View2
	Drawing View1

	Sheet2
	Drawing View3
	Detail View A (1 : 5)
	Detail View B (1 : 5)

	Sheet3
	Drawing View6
	Detail View C (1 : 5)
	Detail View D (1 : 4)


